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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 2 P2_1

Carlos surveyed 40 men about their shoe sizes. Caros made the box-and-whisker plot below to display his results.

Men's Shoe Sizes
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how you found your answer,

u just look at the line in the box and it shows its on 10.5
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Martin thinks more men have shoe sizes between 6 and 9 than between 115 and 13 because the whisker from & to 9 is longer than the

1
whisker from "5 o 13.

B. Explain why Martin is not correct. As part of your explanation, find the number of men with shoe sizes in each interval and describe how
you found those numbers,
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 2

P2-2
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25. Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot

below to display his results.

Men's Shoe Sizes
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you found your answer.
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 2 P2-2

25. Continued. Please refer to the previous page for task explanation,,

Martin thinks more men have shoe sizes between 6 and 9 than between 11% and

13 because the whisker from 6 to 9 is longer than the whisker from 11% fo 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
‘ of men with shoe sizes in each interval and describe how you found those

numbers.
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 2 P23

Carlos surveyed 40 men about their shoe sizes. Caros made the box-and-whisker plot below to display his results.

Men's Shoe Sizes
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how you found your answer,

The median shoe size of 40 men is 10 1/2. | know this because the median of a box and whisker plot is always the line inside
the box of the interquartiles. This line is half way in between the 10 and the 11 soitis 10 172

21000

1
Martin thinks more men have shoe sizes between 6 and 9 than between 115 and 13 because the whisker from & to 9 is longer than the

1
whisker from 115 to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number of men with shoe sizes in each interval and describe how
you found those numbers.

Marlin is not cormect because the & is just the lowest shoe size oul of the 40 men Carlas surveyed. There are 10 peopla in

agch iznﬁt‘eﬁwa: gith those shoe sizes. | know this bacause each interval represents 25% of all the people Carlos surveyed and
10is of 40,
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 2 P2-4
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25, Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his results.

Men’s Shoe Sizes

A. What was the median shoe size of the 40 men Carlos surveyed? Explain how
ou found your answer. >
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 2 P2.4

25. Continued. Please refer to the previous page for task explanation,

Martin thinks more men have shoe sizes between 6 and 9 than between 11%- and

13 because the whisker from 6 to 9 is longer than the whisker from 11-;— to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you found those
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 2 P25

Carlos surveyed 40 men about their shoe sizes. Caros made the box-and-whisker plot below to display his results.

Men's Shoe Sizes
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how you found your answer,

| found my answer of 10.5 by looking at the box-and-whisker plot shown. | saw that the line in the middle of the box was right
above 10.5, | new that meant that it must be the median.
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1
Martin thinks more men have shoe sizes between 6 and 9 than between 115 and 13 because the whisker from & to 9 is longer than the

1
whisker from 115 to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number of men with shoe sizes in each interval and describe how
you found those numbers.

Marlin is not correct because aven though there is a longer whisker between 6 and 9, it does not mean that more people have
those shoe sizes. | know this bacause all that the whisker is telling you is the outlierlowest shoe size surveyed, Thera is only
about 10 me in each interval because if there was more then 10,5 would not be the median,
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 2 P26
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25. Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his results.

Men's Shoe Sizes

A
D=1 @

]
7 8 g 10 1M1 12 13

—— — — — T ——— —
"

A. What was the medlan shoe size of the 40 men Carlos surveyed'? Explain how
you found your answer,
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 2

25. Continued. Please refer to the previous page for task explanation,

| 13 because the whisker from 6 to 9 is longer than the whisker from 11l io 13.
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Martin thinks more men have shoe sizes between 6 and 9 than between 11% and
2

B. Explain why Martiniis not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you found those
numbers.
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 2 Po.7

Carlos surveyed 40 men about their shoe sizes. Caros made the box-and-whisker plot below to display his results.

Men's Shoe Sizes
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how you found your answer,

The median shoe size of the 40 mean is, 9 1/2. | say this because the middle of the data would be between 9 and 10.
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PR ; 1 ; :
Martin thinks more men have shoe sizes between 6 and 9 than between 115 and 13 because the whisker from & to 9 is longer than the

bl

whisker from 112 o 13.

B. Explain why Martin is not correct. As part of your explanation, find the number of men with shoe sizes in each interval and describe how
you found those numbers.

Martin is not corect because the whisker from 6-9 15 just showing the numbers for first quartile and not the actual data. The
median of the first quartile is 9. The meadian of the second quarile is 11 1/2, | found these numbers by looks that the lines that
were beside the median.

280 1 1000




PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 2 P2-8
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25, Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his results.

Men’s Shoe Sizes

A. What was the median shoe size of the 40 men Carlos surveyed? Explain how
you found your answer.
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 2 P2.8

25. Continued. Piease refer to the previous page for task explanation.

Martin thinks more men have shoe sizes between 6 and 9 than between 11-;- and

13 because the whisker:from 6 to 9 is longer than the whisker from 11% to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you found those

numbers.
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 2 P2-9

Carlos surveyed 40 men about their shoe sizes. Caros made the box-and-whisker plot below to display his results.

Men's Shoe Sizes
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how you found your answer,

10.5 ig the median shoe size of the 40 men caros surveyed because the middle line in the box is the median, so what ever
number below that middle line of the box, is the median and the ling was inbetween the 10 and the 11 so | knew it was 10.5
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1
Martin thinks more men have shoe sizes between 6 and 9 than between 115 and 13 because the whisker from & to 9 is longer than the

1
whisker from 115 to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number of men with shoe sizes in each interval and describe how
you found those numbers.

Marlin is not comrect because the reason the ling is longer from & to 9 than 11 -12- to 13 is because the interquartile range is

longer from the lowest number on the ling than the bigger number on the line.
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 2

P2-10
o
25. Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his results.
Men’s Shoe Sizes [
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'A. What was the median shoe size of the 40 men Carlos surveyed? Explain how
you found your answer,
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 2
P2-10

25. Continued. Please refer to the previous page for task explanation.
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Martin thinks more men have shoe sizes between 6 and 9 than between 11-;- and

13 because the whisker from 6 to 9 is longer than the whisker from 11-;- to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you found those
numbers. '
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PSSA Math: Men's Shoe Sizes (Grade 6), Practice Set 2

PRACTICE SET 2* Item:
Subject: Math Men's Shoe Sizes Grade:6

Name

Number |[Score Consensus Notes

P2-1

P2-2

P2-3

P2-4

P2-5

P2-6

P2-7

P2-8

P2-9

P2-10

* Responses in this set do not have true scores. Apply scores based on scoring criteria.
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PSSA Math: Men's Shoe Sizes (Grade 6), Practice Set 2
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